MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/economy

Haas Door Company
320 Sycamore Street
Wauseon, OH 43567

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to
be used in Miami Dade County and other areas, where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/ or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code, including
the High Velocity Hurricane Zone.

DESCRIPTION:

Series HT 600, 700, 800 & 2000 Insulated Steel Sectional Garage Door up to 16ft.-2in. Wide

APPROVAL DOCUMENT: Drawing No. WL-0600-0194-08-48-52M-D, titled “16°-2” HT 600, 700, 2000
& 800 Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 12/01/2014, with revision
C dated 10/12/2020, prepared by Haas Door Company, signed and sealed by John E. Scates, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the statement
reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side track, bottom
angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed

by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this ent ire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 20-1104.09 and consists of this page 1 and evidence pages E-1, E-2 and E-3, as well
as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

MIAMI-DADE COUNTY /% o NOA-No. 23-0830.11
Expiration Date: February 11, 2026
Approval Date: October 19, 2023

Page 1



Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOA’s

A. DRAWINGS “Submitted under NOA #17-0313.10”
1. Drawing No. WL-0600-0194-08-48-52M-D, titled “16°-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
12/01/2014, with revision A dated 01/20/2017, prepared by Haas Door Company,

signed and sealed by Thomas D. Sullivan, P.E.

B. TESTS “Submitted under NOA #15-1104.03”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Resistance Test, per TAS 202-94
along with marked-up drawings and installation diagram of 16°-2" wide x 8 height HT
600 Series Sectional Steel Garage Doors, prepared by Intertek/ATI, Test Report No.
E1289.02-550-18, dated 12/05/2014, signed and sealed by Justin P. McDonald, P.E.

2. Test report on Tensile Test per ASTM ES8, of steel sheets, prepared by Intertek/ATI,
Test Report No. E1289.11-106-18, dated 12/12/2014, signed and sealed by Gary T.
Hartman, P.E.

3. Test report on Salt Spray per ASTM B117 of coated metal steel panels, prepared by
Intertek/ATI, Test Report No. E1289.10-106-18, dated 11/24/2014, signed and sealed
by Gary T. Hartman, P.E.

C. CALCULATIONS “Submitted under NOA #15-1104.03”
1. Anchor calculations prepared by JB&B Engineering Consultants, LLC, dated
07/01/2015, signed and sealed by Thomas D. Sullivan, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. Test report on Surface Burning Characteristics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM E84, prepared by QAI Laboratories, Test
Reports No. RJ5251F-1 and RJ5251F-2, both dated 01/26/2017, signed and sealed by
V. Andrew Tan, P.E.

2. Test report on Ignition Temperature of Plastics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM D1929, prepared by QAI Laboratories, Test
Report No. RJ5255F-1, dated 02/02/2017, signed and sealed by V. Andrew Tan, P.E.

e

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.11

Expiration Date: February 11, 2026
Approval Date: October 19, 2023



Haas Door Company

F.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS “Submitted under NOA #17-0313.10”

1. Statement letter of code conformance to the 5™ edition (2014) FBC issued by JB&B
Engineering Consultants, LLC, dated 02/27/2017, signed and sealed by Thomas D.
Sullivan, P.E.

2. Statement letter of no financial interest issued by JB&B Engineering Consultants,
LLC, dated 02/27/2017, signed and sealed by Thomas D. Sullivan, P.E.

2. EVIDENCE SUBMITTED UNDER PREVIOUS NOA-No. 17-1023.13

A.

DRAWINGS

1. Drawing No. WL-0600-0194-08-48-52M-D, titled “16°-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
12/01/2014, with revision B dated 10/25/2017, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

TESTS

1. None.

CALCULATIONS

1. Anchor calculations, dated 10/27/2017, prepared, signed and sealed by John E. Scates,
P.E.

QUALITY ASSURANCE

1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 6™ Edition (2017) FBC, dated 10/27/2017,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/27/2017, issued, signed and sealed by

John E. Scates, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.11

Expiration Date: February 11, 2026
Approval Date: October 19, 2023



Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. EVIDENCE SUBMITTED UNDER NOA # 20-1104.09 AND NEW

A. DRAWINGS
1. Drawing No. WL-0600-0194-08-48-52M-D, titled “16’-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
12/01/2014, with revision C dated 10/12/2020, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS
1. Statement letter of code conformance to 8" edition (2023) of the FBC, dated
06/27/2023, prepared, signed and sealed by John E. Scates, P.E.
2. Statement letter of no financial interest, dated 06/27/2023, issued, signed and sealed by

John E. Scates, P.E.

3. Statement letter of code conformance to 7% edition (2020) of the FBC, dated
10/20/2020, prepared, signed and sealed by John E. Scates, P.E.
4. Statement letter of no financial interest, dated 10/20/2020, issued, signed and sealed by

John E. Scates, P.E.

e

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.11

Expiration Date: February 11, 2026
Approval Date: October 19, 2023



1 2 3 | 4 i 5 6 7 8
REVISIONS
REV. [ZONE| BY DESCRIPTION DATE
[ [at] neet 1 Wos 150" thru 16'-2"
Maxi Door Width 16'-2" [A1|  [Sheet 2 Added "NOTE: The fiot...mount”
aximum ?o ) NOTE: Track configuration above Az [Sheet 2 Added "5" Nominal...an Aterncte.”
F ™ Top Bracket End & Intermediate Stiles (Backers) the door opening does not affect A [coa MVS[Shest 2 Added 3 Atemate Botiom Brockets [1/20/17) F
DETAIL A (sheet 2 of 3) Detail L (sheet 2 of 3) A the wind load rating of the door. piez| [To DETAL C.
_— See chart below for guantity E3 Sheet 3 Added “WOOD JAMB ATTACHEMENT"
&h Attached with 3 mm TOG-L-LOC at 2 places. B Faz|  [Gect 3 Cranged FR Polyureihane Faam
A il o :
] — T o P e Ay ™ " Y7
3 °l DOUBLE STEEL END STILE er hub di m 1/4"
L P — = it - 7 = = = . ol 16 Ga Galvanized Steel o | A s TS A e a5, s
R i i Detail M (sheet 2 of 3)
T .r-\l lr_\l I N
&l = =: i | 1 - G ol Flag Bracket
Detail H (sheet 2 of 3)
E Y 1 1 L7 - =V E
L [ 1
& ry m ry ﬁ T I rs Jr—*w ™ 2. o
v - =, -
Door Height
e ctan £ iy - 54 43| 7l 413 Jamb Bracket
- { X7 Detail F (sheet 2 0of 3 —
below for other Y Ry v T 0 Detall F ¢ )
door heights , } W PRODUCT REVISED
I =il =T = i 11 [ = = — 667" +/-3 E As complying with the Florida
— I R N I g N R 38" +/- 3" N Building Code
NOA-No. 20-0830.11
oy fo} [ {3 N\ Expiration Date:  02/11/2026
D — —t & ) e o
B 2010 4/ 3" By: /4
\ 2 Miami-Dade Product Control
T =E = T — =" A E:
\ § PRODUCT REVISED
as complying with the Florida
AL T 7 Building Code
L \ - NOA-No. 20-1104.09 =
Bottom Bracket End Hinge \— Strut & Strut Attachment — Intermediate Hinge J ’Séf%';?ﬁ'&i’;f{”;‘@::fg{f’f’e‘) Expiration Date _02/11/2026
Detail C (sheet 2 of 3) Detail B (sheet 2 of 3) Detail E (sheet 2 0f3) Detail D (sheet 2 of 3) 4% +[- 3"~ Letat 4 . E——
,[0%" -3 — B¥ _ ,@é Lizz—]
Jamb brocket quantities shown are for use with grode 2 or better southern pine Miami-Dade Product Control
C This product has been tested per TAS202-94 for static air pressure. jombs. \\“““”l C
§ oaila b . " Supporting structural element designs are to be the responsibility of the professional \ /
This product has been tested per TAS201/203-94 for large missile impact and cyclic wind pressure. of record for the building or structure for the loads listed on this drawing. \\\\\“ e SC,qr fI////
N N - i,
Modei Number e Door | Tol IromiNG.| st | femt S xof.;\ci"se S 7
- _ R Height o Struts |Configuration | o: . I A
HT _70 & 2_70 SERIES|HT _12 & 2_12 SERIES faht | sections | of St gurd Side | NOTICE: = K 51737 =
HT _80 & 2_80 SERICS |HT _60 &2_60 SERIES |HT _71 & 2_71 SERIES|HT _14 &2_14 SERIES 50" 3 3 5 These drawings are o supplement = No. [
] HT _81&2_81 SERIES |HT_61 & 2_61 SERIES|HT _72 &2_72 SERIES|HT _16 &2_16 SERILS g % 2 5 to the instollation instructions for = * = ]
HT 82 &2_82 SERIES |HT _63 & 2_63 SERIES |HT _73 & 2_73 SERIES|HT _32 &2_32 SERIES i a stondord door ond only covers = JEOF S
HT_90 & 2_90 SERIES | HT_64 & 2_64 SERIES [HT _74 & 2_74 SERIES|HT _33 & 2_ 33 SERIES 6-3 4 4 | 5 those procedures that vary from 24 SW JwS
_ — 6 2 4 6 standerd door instaliation.  If 2 B, BEGES
Door Width |2€sign Pressures|  End Center Center Center Center Impact - these specific procedures are not %, Op FLORD- O
+pst | -pst | Stiles | Stiles | Hinges | Stiles | Hinges | Stiles | Hinges | Stles | Hinges |Resistant] 6-9 4 4 SEE 6 followed, the door may not %, Cga 2" ‘\\\\
oo wut07| 480 | -52.0 |Double| 4 2 YES 70| 4 4 SHEET | 68 | perform os designed. 15 JONRY
B| [rwuiz| 480 | -52.0 |Double| 5 2 YES 73 4 4 30F3 6 | SUTL B
140" thru 14| 48,0 | -52.0 |Double 6 3 YES 78" 4 4 7 . (_
160" thru 162 | 48.0 | -52.0 | Double 7 3 YES 76" 5 5 7 N =~ John E Scates, P.E.
13" thru 1227 48.0 52.0 | Double 5 2 YES 79" 4 4 7 L - 2569 _K‘ingTArthur 7BédeS.GSte 124-54
100w 92| 48.0 | -52.0 | Double 7 3 VES T 5 5 7 \Cfip (20 Lowae Teos o
1 [1ra" 122 48.0 | -52.0 [Double 5 2 YES 8-0" 4 4 7 —
156" thru 162 |  48.0 -52.0 | Double 7 3 YES 80" 5 5 7 IMPACT This praduct hos been evaluated for use in
100" the 22| 48.0 | -52.0 |Double 5 2 YES Maximum section height is 24 in. RESISTANT |the High Velocity Hurricone Zone (HVHZ).
133" thru 182" X 52,1 ; ‘oht | -
L T 480 | -52.0 |Double 777771 ’ 8 [ YES | Maximum door height is 16 ft. 162" HT 600, 700, 2000 & 800 STEEL SERIES
is product is available in narrower sizes with the some PSF and constructed as shown. All doors, even those abave the tested height, = HVHZ WIND LOAD SECTIONAL DOOR
Al This product is designed and sold by PSF. The AHJ or Engineer of Record is responsible for determining the PSF are availoble_with jomb brackets or commercial R A
required for any given site, 9 g full ongle. The quontity ond dimensianal DESIGN PRESSURE +48.0/-52.0 PSF
locotion of the jomb brackets/track clips and 320 Sycamore | DRAWING NO.: WL-0600-0194-08-48-52M-D |REV. C
the Jamb mounting shown obove should be Wauzt;,gna,gh;@%?SW DATE DRN: 12/1/14_|ORAWK BY: MV'S [REV. DATE: 10/122020
oo |MODEL(S):  See Sheet 3 [SHEET: 1 0F3
1 2 3 | 5 | 6 I 7 I 8




1 2 | 3 4 ] 5 6 | 7 8
REVISIONS
REV. [ZONE| BY DESCRIPTIDN DATE
TEK SCREW | A1 sheet 1 Was 15'-Q" thru {6'-2"
1/4" X 3/4" Hex Washer Hecd Self Drilling TEK  SCREW. | A1 | ISheet 2 Added "NOTEx The flot....mount”
ADJUSTABLE TOP FIXTURE END HINGE (3 per Bottom Brocket & 2 per Low ;/“: DX'“:"/“(BHGX W;SRE' Hiddz A2 y [Sheet 2 Added "3 Nominol...on Alternate.”
a 14 Ga Galvanized Steel elf Drilling per Bottom per A VS [Sheet 2 Added 3 Alternate Bottom Brockets |1/20/17)
. ven % Heodroom Top Bracket) Adjustable Inner Bottom Brackets) Sl o DETAL S, ernate Boftom Brackets
PUSH NUT 7/16 TEK SCREW BOTTOM BRACKET BOTTOM BRACKET [E3|  [Sheet 3 Added "WOOD JANB ATTACHEVENT"
See DETAIL K for ° “ 13 Go Galvonized Steel » : Mgl
push nut plocement 1/4" X 3/4" Hex Washer 8 @ clvonize: a 13 Go Golvanized Steel A2 |Sheet 3 Chonged FR Polyurethone Foam
Head illi Y
Hf:ge)se" Drilling (4 per LOW HEADROOM TOP BRACKET g ADIUSTABLE, INNER P T P e e
= T ” A4 |Mys|Chenge the rater hub distonce from 1/4" |\,
TEK SCREW PUSH NUT 7/16" o PUSH NUT 7/16" PUSH NgT 7K/15 c VSlio 2% in DETAL K on sheet 2 of 3.
1747 % 34" H See DETAIL K for push See DETAIL K for push nut See DETALL K for push nut
W/ her Heod Se"; nut placement placement placement,
qu I?nzr (4eu : BOTTOM SEAL BOTTOM SEAL
illi per A
DETAILA  Brocket) DETAILB DETAILC ALTERNATE #1
TEK SCREW TEK SCREW — 1/4" x 3/4" Hex Washer Head
« . TEK SCREW 3n o i i
%‘;h; :Qd Hex Drling 178" X 34" Hex —— 2 Self Drilling (2 per End & \;{e‘rmedlote Stiles) 25250';0512 (DT;)O; Each
Washer Head Self 3 1/2" x 5" E STRUT S L
Exsdjfseészﬂuﬁfer&afugﬂ Driliing (14 per INTERMEDIATE  HINGE 18 Ga 70 KSI Minimum JAMB BRACKET _——fy LOCK BARS (see DEIAL J )
Brackets) Bottom Brackets) ‘“‘ 18 or 14 Ga Golvanized Steel 31" 12 Ga Galvanized ]
ackets ICAN Galvanized Steel 7 Steel s SUDE LOCK or
BOTTOM BRACKET R BOTTOM BRACKET " 16K SCREW . 49’& LOCK BARS
12 Go Galvonized Steel °4 3/16" Thick Powder a ° . Y ﬂ: o Engages into the
ADJUSTABLE INNER o Cooted Steel "l-‘,lllir 1/4" X 3/4" Hex vertical track on
BOTTOM BRACKET sl Wc‘slher Head Self each side of the
- o o PUSH NUT 7/16" il Driling (4 per Hinge) °Qa door
PUSH NUT 7/16" ~inso See DETAL X for e 5" BOLT & NUT TEK SCREW
See DETAIL K for push push nut plocement. v NOTE:  The location of 1/4-20 X 5/8 i “ "
nut placement. m [ i i 3" x 3 1/4" BRIDGE PLATE Carriage Bolt & 1/4" X 3/4" Hex
pl BOTTOM SEAL the intermediate hinges Wotner Diad S
BOTTOM SEAL is indicated by the 18 Ga 50 KSI MINIMUM L/?yéo Hex Washer ng:' er (Aea ;‘d
toggle lack dimples at Galvanized Steel u per Jamb rilling per Slide
ALTERNATE #2 ALTERNATE #3 DETAILD  $%6. % coeh section.  DETAILE  Atioched with 3 mm DETAILF  grackety DETAILG ok
TODETAILC TODETAILC TOGTLALOC ot & Cormers
PRODUCT REVISED
o T, as complying with the Florida
] R Uj———i.j PRODUCT REVISED Building Code @ 1.00
: . . —NoO. = !
?_'L;'\LS[EE . . As complying with the Florida —_—
1 18" Section — 17 ¥ | - A —7" M?n.——J Building Code Expiration Date 02/11/2026
21" Section - 20 3" — ROLLER NOA-No. 20-0830.11 By Vi
" . 3 " "
18" Section — 17 §" 24" Section - 23 3 . . R —_— Expiration Date:  02/11/2026 Miami-Dade Product Control
21" Section — 20 3" 2" Diameter Nominal Ten Ball Nylon w/Hordened p
» ion — N ° ° Shoft or Ten Ball Steel w/Hordened Shaft with .
247 Section ~ 23 § ] @ Minimum Workable Shaft Length Shown. By:
PR T Miami-Dade Product Control \\\““““1///
AN Y
[ ] My €. 8047,
I . o &2 SCan,
LOCK BARS Engage [ 6" WO T VR Y
into the vertical \.“ $opeENSE ~.’:9 ////
track on each side I ] _ § - K N -
of the doar - 2%" - | >( FLAG BRACKET 3 ) NeSITST N =
-—»I - S =
DETAIL J # R * e
= A= Bz * FE=
Alternote Lock Configuration w w W - “‘ STATEOF :" by =
MATERIAL; 20 GA CS Steel, MATERIAL: 16 GA CS Steel, BOLT | . “R / _gl <
G40 Min. Hot Dipped G40+ Min. Hot Dipped 5/16" X 1 5/8" Lag Bolt 2. Op'se PLOR\OP:' NN
Galvanized Galvanized (4 per Fiog Bracket) 2, \S‘:g."“""(—}\o\\\\
2, TSIONAL V0N
’
DOUBLE STEEL END STILE : . DOUBLE STEEL END STILE "4y NA \\\\\
p NOTE: Jamb Loads: o AINRAM
16 Ga Galvanized Steel 384.0 Ibs. /f 216.0 ¢ 16 Ga Galvanized Steel
Detgil M (sheet 2 of 3) +384.0 Ibs./fl./~416.0 lbs./ft. Detail M (sheet 2 of 3) SOUT & NUT
- &L—';lg‘f"ied(gﬁzefi;eif(B;)JckerS) 1/4-20 x 5787 frock Bet 2280 King Arth FBive. Ste 124-54
Attached with 3 mm TOG-L—LOC at 2 places. of 17 & 1/4-20 Hex Washer Nut o ravile Tex 8086
—T~ Vi /: (2 for Horizontal & 2 for ewisville, Texas
773 verticol Trock) Florido P.E. § 51737

BOLT & WASHER
5/16" X 1 5/8" Lag Bolt & 2"
0.D. x 7/16" 1D, Flat Wosher
NOTE:
direct contoct with the 2x6 (No
drywall allowed).

NOTE: The flat wosher is not
required for angle maunt.

Jamb bracket must be in

VERTICAL TRACK
2" Nominol 13 Ga Galvanized Steel
tested.

3” Nominal 13 Ga is also approved
os an alternate.

SECTION B-B

WOoQD JAMB
The vertical wood jamb fasteners
may be counter sunk to provide a
flat mounting surface. See jamb
attachment details on sheet 3 for
attaching jombs to the structure.

DETAILK

There should be a space
of maximum 1/2" between
the roller hub and the

outside edge of the roller
holder which is set by the
push nut.

DETAILH

NOTE:
for clarity.

wider or heavier doo

Details on some views omitted
Double end stiles and
end hardware may be required on

rs.

IMPACT
RESISTANT

This product has been evalucted for use in
the High Velocity Hurricane Zone (HVHZ).

162" HT 600, 700, 2000 & 800 STEEL SERIES

HVHZ WIND LOAD SECTIONAL DOOR
DESIGN PRESSURE +48.0/-52.0 PSF

520 Sycamore

DRAWING NO.: WL-0600-0194-08-48-52M-D

REV. C

Wausean, Ohio 43567 DATE DRN: 12/1/14 | DRAWN BY: MV [REV. DATE: 10122020

418-337-9900

©Conyg 1204

| MoDEL(S):

See Sheet 3

[swegs: 2 0F 3

2

3

5 |

I 7

[ 8




1 | 2 3 4 i 5 [ 6 | 7 8
REVISIONS
Y FASTENER TO CONTINUE REV. [ZONE| BY DESCRIPTION DATE
i 5 A eet 1 Wos 15'-0° thru {6'-2"
15“ THICK — HT 600 SERIES a’ PAST HEADER T A: ::eu: 2 Added "NOTE: The flat....mount”
13 THICK — HT 700 SERIES e [A2|  [Shest 2 Added *3" Nomial..on Aternate.”
i— ;::gﬁ - :; éggosgé:?gs — 4 A [eeu |MVS ?neet ilwaec 3 Aternote Bottem Brackets |1/20/47]
- D1&2 o DE C.
%ir( %% [E3|  [Sheet 3 Aaded "WOOD JAMB ATTACHEMENT®
4 ° o A2 |  [Sheet 3 Chonged FR Polyurethane Foom
2 X 8 GRADE 2 OR BETTER SOUTHERN 5 Pl 52):;1 2 Cnongeg some values In the WOOD |0 . ]
SEE CHART FOEI\TV%%AIZ)MEASMB ATTACHMENT © | e |Mvs{Eresgt Sster e e o V4 ooz
o TO BUILDING STRUCTURE. o =
A A
P STRUT Detail £
, ] (sheet 2 o 3 WOOD JAMB ATTACHMENT
- Buildi iy | Moo Minimum | aximun | Alowablo ° ° {
Si‘rj\:ctlarge Fastener Type | Embedment 08 (o0 20 Sp?xuir}g' Teneio OPENING j\\f_‘ e
Min. 2000 PSI | Tapcon 140w/ | g g | gapr| av | 12 | aass| HEIGHT rﬂ | o
Southern Pi 3/8" L | " " N " MAXIMUM ON
G =058 |11/8" 0D washer| 1172 | 11/2| 4 12" | 620# CENTER SPACING
TONGUE AND GROOVE JOINT. szac: &T%Fir gl o |2 | 4 | 12 | as2# o FIRST FASTENER 4"to 6" ° n
ABOVE THE FLOOR
-
: | NOTE: 2X6 mounted to the wall must be Southern Pine Grade 2 or better. 7 °
is STRUT Detail £
> (sheet 2 of 3) \
d D
2 OPENING .
26 GA MIN. EXTERIOR DDS OR WIDTH
H— S STEEL SKIN WITH G40 MIN,
% ooy PRNER A DAKED-ON MODEL NUMBERS PRODUCT REVISED
3 EPOXY PRIMER KED—
/ am_w@sm;z P@gﬂ TS?P COAT. ‘§F PRODUCT REVISED gs _tI:;_mplgin(? with the Florida
. YIELD: K — ullding Code
As complying with the Florida NOA-No. 20-1104.09 =
MODEL NUMPERS RIS | puiang cone Expication pate 0211112026
| HT _14 & 2_14 SERIES NoA-No. 20-0830.11 2
Expiration Date: 02/11/2026 By
N HT _16 & 2_16 SERIES § Miami-Dade Product Control
, | HT 32 & 2_32 SERIES By: ’_‘%’5 ¢
s | STRUT Detail £ Miami-Dade Product Control .
I (sheet 2 of 3) . pa & HT _33 & 2_33 SERIES \\\\\\H“HI////
(7
, HT 10 & 2_10SERIES Soon E: Scq. 77,
o | NIRRT
H e 26 GA MIN. wTER,OR Cﬁ HT _12 & 2_12 SERIES N N =z
STEEL SKIN WITH G40 MIN. = V= -
GALVANIZED, BAKED-ON T4 4 4 HT _60 & 2_60 SERIES S § NeStmar & =
T T : T 618261 SERES E R =
e d al o o 1S 2 2% SMEOF &S
TONGUE AND GROOVE JOINT. HT _63 & 2_63 SERIES ‘,/9(:(“.‘{.10'“0“', '%'0\\'\‘
dq 4 4 4 HT _64 & 2_64 SERIES 2 SioNAL B B
?,
Al al al o HT _70 & 2_70 SERIES 7 L et
; STRUT Detall £ HT _71 & 2_71 SERIES . EASITZ o £ Scotes, PE
2 of 3) | | | i . 2560 King Arthur Blvd. Ste 124-54
b (shest 2 of 3) 4 4 ¢ 4 HT _72 & 2_72 SERIES \Q(~ X 20 Covisville, Texos | 75056
7 \‘Q ToL Florida P.E. # 51737
FIRE RATED POLYURETHANE FOAM - (- - - HT _73 & 2_73 SERIES — |
INSULATION — RUBITHERM WP 19669 HT _74 & 2_74 SERIES IMPACT |This product hos been evaluoted for use in
s @ - *- HT 80 &2 80 SERES RESISTANT. |the High Velocity Hurricane Zone (HVHZ).
RIGID/FLEXIBLE PVC BOTIOM SEAL = = A 162" HT 600, 700, 2000 & 800 STEEL SERIES
(. (. i O HT _81 & 2_81SERIES . HVHZ WIND LOAD SECTIONAL DOOR
4 HT 82 &2 82 SERIES Nehiger DESIGN PRESSURE +48.0/-52.0 PSF A
® ® ) — =
SECTION A-A 4SECTIONS 5SECTIONS 6SECTIONS 7 SECTIONS 320 Sycamore | DRAWING NO.: WL-0600-0194-08-48-52M-D [REV._C
STRUT CONFIGURATION HT _90 & 2_20 SERIES Wauseon, Ohio 43567 pATE DRN: 12/1/14_|DRAWN BY: MV'S [REV. DATE 10122020
MGSTI0  IvaeLs:  See Sheetd [SHEET: 3 OF 3
1 2 3 | 4 I 5 { 6 \ 7 8



	NOA 23083011 Doc
	NOA 23083011 Dwg



